) ot /- 4

Racing Screers

- HANDPROTECTOR FOR -

BMW FBO0OR (*15-) / FB00GS (:135)./aEZ00GS ("12-)

Ref.: 8939

X © ALLEN & TORX

Ne 3 \ N° T40
N° 6 N° T55

: _—

1 person 30 min B0
DESCRIPTION QTY.
1 (\—/ﬁw Right handguard 1
e
@18 right handlebar anchoring part
2 (supplied mounted with handguard) 1
3 W% Left handguard 1
—
/ﬁ @18 left handlebar anchoring part
4 (supplied mounted with handguard) 1
5 S‘\ Right metal support 1
6 / Left metal support 1
7 %@@ M8X40 DIN912 Allen screw (BMW F800GS) 2
3 @ @inner 4,5 @outer 11,5x2 rubber washer 4
9 (supplied already mounted on items 1-2-3-4)
9 @) M5x11 ISO 7380 Allen screw 6
10 M5X1 Nylon washer 6
. M5 Special nut
" ® (supplied already mounted on items 1-2-3-4) 4
12 @ Q@inner 4Qouter 14x4 Rubber washer 2
13 @ Jinner 14 Gouter 33x8,2 customized spacer 2
14 0 @25x3 O-Ring 2
15 0 M5 1SO 7380 Allen screw cap 6
16 \/ \_/ Stikers set 1

Pg. 1/4


https://www.motorcycleid.com/puig/

ey

Racing Screers

Y ot 7/

o
o
L
%
O
—
O
L
—
@)
I
o
O
Z
<<
I

BMW F800R (*15-)

/ F800GS (:132)/aF

- MOUNTING INSTRUCTIONS -

Pg. 2/4



) ot /- 4

Racing Screers

- HANDPROTECTOR FOR -

BMW FB00R (*15-) / FB00GS (“135) £EZ00GS5 ('12-)

- MOUNTING INSTRUCTIONS -




) ot /- 4

Racing Screers

- HANDPROTECTOR FOR -

BMW FB00R (*15-) / FB00GS (“135) £EZ00GS5 ('12-)

- MOUNTING INSTRUCTIONS -

If you’re looking for quality motorcycle windshields & fairings, visit our website.


https://www.motorcycleid.com/windshields-fairings.html

